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EKEFERAKE # % EKEFERKE EE T LAKEFERAKE EEI EAKEFEAKE 22
(m®) () (m®) () (m?) (M) (m®) ()
20mMELTF 1,980
21 2,137 41 5,305 61 8,918 81 13,054
22 2,294 42 5,484 62 9,124 82 13,260
23 2,451 43 5,663 63 9,331 83 13,467
24 2,608 44 5,842 64 9,538 84 13,674
25 2,765 45 6,021 65 9,745 85 13,881
26 2,922 46 6,200 66 9,952 86 14,088
27 3,080 47 6,380 67 10,159 87 14,295
28 3,238 48 6,560 68 10,366 88 14,502
29 3,395 49 6,739 69 10,573 89 14,709
30 3,552 50 6,918 70 10,780 90 14,916
31 3,709 51 7,097 71 10,986 91 15,122
32 3,866 52 7,276 72 11,192 92 15,328
33 4,024 53 7,456 73 11,399 93 15,535
34 4,182 54 7,636 74 11,606 94 15,742
35 4,339 55 7,815 75 11,813 95 15,949
36 4,496 56 7,994 76 12,020 96 16,156
37 4,653 57 8,173 77 12,227 97 16,363
38 4,810 58 8,352 78 12,434 98 16,570
39 4,968 59 8,532 79 12,641 99 16,777
40 5,126 60 8,712 80 12,848 100 16,984

LREMAE. SHTF0RIBOHBREREISHESHRE (10%) BREOHERSFHIENTENREATT.
TREFAMEEEE OHMAHLY)

K % EKHFRE (LAEOERAR) B
(EXHE) 1 OMUTDEEEES

EKHEREMN 1 0 OMUTDEA 900M

BEKBEBREMN 1 0 1 MU EDIFE 1, 800H

(BEHL) 11mmd 20mMET 143H

1 mBfE 2 1mpmd 30mMET 163H

—R%5K 31nmmnd 5Om%ET 188H

51mmd 100mMET 227H

10 1mMhd 500mMET 274H

50 1mMmd 1, 000mM=ET 318H

1, 001mMMd 2, 000mMET 363H

2, 001mMns 410H

BIEEK 1Tmizo&E 10H

OFEERELERMNRE LI-ERKE (2hAD) Z1MAZEIZHTTHELEY,

OFWH LIZEICTHERFHEEE (10%) zMEL. 1ARBORHAZUIVIETEI,

OADHETHIMXIIAILFL-EZDFEAME, FRABKN15BULEDIFESEF 1A, 1 5EAREDBSEHA
ELTERHEZFERLET,

O1ARDKZ2HFLULETHALTWSEEEF, HERICKVEDHTH-ORHEICGYET. (FHIICEHARLETT)

[EHHI) 118ERS (9 - 108%) OFERAKE (BHKE) 16 1mMDEs

®) 6 1T mM+-2A=30m&Y1 1HAA31TmM 1HMA3OmM

9A% 31m
(BEAHE) 10mMUTF romj HAHEL . 900M
(FBEfE) 11mhDd 20mM=ET M omj 1T0omx 1TmEffli 143M= 1,430M
21mmhd 30mMET M omj 10mx 1mEfl 163M= 1,630M
31mMd BOMET I 1mjy 1Tmx 1TmEfM 188MA= 188H
BitEHEE 31m (AHzY) 4,148
4,148 x EHEF1.10% = 4,562 {3 R 4,562M®D
10A% 30m
(BEAHE) 10mMLLTF romj HAHEL . 900M
(HBiEHE) 11mAhAd 20mMET M omj 1T0mx 1TmEfl 143M= 1,430M
21mhd 30mMET M1 omj 10mx 1mEffi 163M= 1,630M
BitEHEE 3om (AbH=Y) 3, 960
3,960 x HEF1.10% = 4,356 {3 A% 4, 356 M@

11AERSD(9 - 10A%) FARESEAX 8, 9180 (D+®@)
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